13000 GeV pp

S - | : | : | : | : | ' | ' — 0
> = | c
@ — top . . — 9
o P_" (ATLAS semileptonic ttbar) 13
= T
= u =
— B ATLAS -
£ 107 E o Pythia 6.428 345 EL
_Gb = o Pythia 6.428 346 33
= _Pythia 6.428 370 — ;
f.Q_,_ — hia 6.428 default - §
51072 & .308 default _:'Q—:
o - .
(o]
o — _
© i @
~ ™
107 & —
— — O
- 10
L -1M
- —
- 12
— mks
©
107 = =5
— dc
L Jo
Q
- %2
= -9
6 o
1075 | | | | — | M
2 £ -2
" — 7
< = _
-l - —
l_
< B |
e 1 1
e} |
= B |
o B |
0.5 —0.5
| 1 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000

p"* [GeV], Iy™ in [0.7,1.4]



	Contents
	Page 1


